
Kugellager 6802 2RS / 61802 2RS / 15x24x5mm

 

Kugellager 6801 2RS / 61801 2RS / 12x21x5mm

Kugellager 6802 2RS / 61802 2RS / 15x24x5mm

 

Kugellager 6800 2RS / 61800 2RS / 10x19x5mm

 Verbinden 

 

 

Set Description/
Beschreibung Art.-Nr.

1 Rear Shock mounting set/
Dämpfer Befestigungsset 0.281.658/5

2 Rocker bearing set/
Kugellagerset Rocker 0.281.657/7

3 Main frame bearing set/
Rahmen Hauptlagerset 0.281.659/3

4 Horst link bearing set/
Kugellagerset Horst Link 0.281.668/4

5 Dereilleur hanger set/
Schaltaugenset 0.281.180/0

6 Battery-Rail/
Akku-Rail 0.281.602/3


